[ Name: ] [ Date: ]

KS2 Quiz
[ Unit title: French transport ]
1 What is a cognate?
A A rhyming word.
B A word thatis very similar in English and French.
C A type of transport.
D A word that is different in English and French.
2 Which of these is the French word for a 3 W'hich of these is the English word for ‘un
plane? vélo’?
A unavion A aballoon
B une voiture B aferry
C un ballon C acar
D un bateau D a bicycle
4 Which word is used to mean ‘in, by, on’ in French?
A un
B en
C to
D puis
5  *Je vais en vacances’ means.. 6 Vs(hich phrase correctly describes the
picture?
A ..l am going by bicycle. A |l y a quatre avions rouges.
B ..Iam going to school. B Il y atrois avions verts.
C ..l am going on holiday. C Ily a quatre avions verts.
D ..lam going by boat. D Il y atrois voitures verts.
7  Which of the following means ‘Where are you going?’?
A Tuyvas comment?
B Tuvasou?
C Jevais & Paris ?
D Je vais en vacances ?
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8 Which phrase means: ‘Il am going to Paris by car.’?

Je vais & Paris en bateau.
Je vais a Paris a vélo.

Je vais & Berne en train.

O n m >

Je vais & Paris en voiture.

9 What does the phrase: ‘Je vais & I’école a pied.” mean?

| walk to school.
| go on holiday by plane.

| go to school by car.

o n ™ >

| like going to school.

How might you answer the two questions below? Give as much detail as you can.
10 1. Tuvasou?
2. Tuyvas comment ?
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